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18.

SR A S A S FRiE A da) w gt 3 Rrmer =i, Candidates should enter their
Name and Roll Number in the Question Booklat
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OMR answer sheet should be with blue/lack ball paint pen only.

ﬁﬁaﬂwﬂmﬁﬁﬁvﬁuﬁﬁmmmmm,m@mmﬁmm%ﬁmw
A T & FEE WA/ The written test will be of objective type based on the qualification preseribed for
the post with four answers indicated, of which only cne will be unambiguoiesly carmect.
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HOAHT fE & HUSEER He[ew F ARG oA ARU, Candidates have to select the right answer by
marking the cormesponding oval on the OMR answer sheet by blue/black ball paint pan as per the
ingtructions given In the OMR answer shest.
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et i (saasi aifye) & ue & aae i Rt ol

WRITTEN TEST FOR SELECTION TO THE POST OF

TECHNICIAN “B" Electronic Mechanic)

AfZ 25 T A UF AEE ¥ 100 Fo TS TEAAT & @ 9EF F A3 g $419 100 coulomb

of charge passes through a conductar in 235 5. the current in the conductor is ...

@ 1A (B} 4A (c)  10A (d) 25A

afey v dedt & e q000 TATTE E oAt aw — — # AT 4 WPy wEe & g w6
AT E/0F the capacity of a battery is 4000 mAh, it can supply 4 Ampere current for

(a) 120 min = 240 min

) 60 mn [d 30 min

UE WG A o U g Ul AEd 300 VOB SHET WHUATH 5 R--—eeeeeeee #The peak to
peak value of a sine wave is 300 V. lIs rms valueis ...

@) 7072V (b} 1414V

icy 1414 {d) [ R Y

UF WAS gleadvas 7V A sEen i | K dus & wmy ofed s & 99 g dead & and

U e T S RA forward potential of 7V is applied across a network consisting u schotthy
diode with | K£2 resistor in series. The current through the diode is ...
fay 10 mA ()  7.3mA ) 6B mA (dy OmA

|1 104) &7 3w geain e/ The decimal equivalent of 11100 15 ...
{a) 23 (b) 31 &) 27 ) 28

168 1 iﬁﬂﬁﬁﬁﬁﬂﬂ'ﬂ'ﬂ'?ﬂ fevaror Y & 521 § ———/Number of control lines required for 16
to 1 muliiplexer is ...

(@) 3 {b) 4 €y & dy 2

UF 6 f8T FEET 0,0.2,...... n T Wewet & e swaior e e &) n 197 e/ A 6 bt
counter 15 used to count from 0.1.2,...n. The value ofnis ......

{a) 16 by 15 (e} 12 d) 63

1000 Hz & 3meier arel v #5a T4 & T, 309 H9T9 ———— E/For a sine wave with s frequency
of 1000 Hz, the time pedod is ...

(2 100 ms by 100 ms el [0 m= (dy lLms
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L e  w oo o g e omemoa

10.

11.

12

13.

14.

oA e gy gl & sav vhvadion & gitgear & The disasdvantage of SMPS over

conventional limear power supply is ...

(a) THET &THEET/Low efficiency
(b) HHATE HZER / Bulky components
(z) vFruEh R geadn e 87 F8a Fa1 E/Generates strong electromagnetic

interference field
dy T FRIE/ Low cost

v 2T A1 el Al FRuTar $ar £/ The oscillator that gives good frequency stability is ...

(a) wda e Martley Oscillator {b)  FIAMEd qiTer [Colpitts Oscillator
(c) TEEE e Crystal oscillator (dy 3 H Fa fire TifeE /RO phase shift oscillator

s Frgree=n & qﬁ'—E &/ The unit of capacilive renctance is ...

{a)y MW /ohm by e A farad {c) sfdgar s ampere {d) i</ volt

argEeTdd JgE i/ The bistable multivibrator

(a) & TR 39T §/has two stable siates
(y  wE TRE wEEn "E-'f has one stable state
(e} EFeiereT & is free running

{d) mﬂ?ﬁ H Eﬁ!ﬁ' A8 /none of the above

wE Zae grre & dhe g iR areh ogs & i, e BT ¥ /Between the peak point and
the valley point of tunnel diode, there is . region

{a) R‘iF['I‘ﬁH Saturation
(b) FOMcHS WA/ Negative resistance
(c) THE-FHTH/Cut-nff
id) I'T-“;’,HF H Eﬁﬁ TEr/None of the above

o drde ufatus ed we, aaee, Siter #v @ T dz L e oy ape EThe
resistance value of » carhon resistor having red, violet, orange and gold colour band is

(@) 2.7kf1+5% (b) 27 kL) 4 5%
() 270 kL2 + 10%% (dy 2702 5%
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13.

16,

17,

18.

19.

20

21,

OrE 3 10,000,000 SraT AfERr # - db # were famam SrEr /A gain 10,000,000 times in
power is expressed 85.......... db

{a) &l by B0 {cy 70 (d) 120

Tt welw F 5ae WY 3Eeqe & d o S RS --—-—---- §/The phase shifi

between input and output of an emitter follower 15 ........
(ay Qo (b) 180° {c)  BOP (dy 900

T HOaWE 4iF &1 2T Rwnat & aes & #E §/The semiconductor device that can conduct
in both direction

(a) TH/TRIAC (b) THHHR/SCR

(c) FSE/BIT (@) 39YE F FE T /none of the above

U SFAEAT # 10 QAT F 40 O W HAF T e A Tefe I The tums ratio required to

match 10 £ source to 40 £2 load in a transformer

(@ 1:8 {by 1:2 (] 1.4 @ I:l6

T 10 £ 31 Z6 Wi erias w0 e &, aeer ofauaTE T Ten resistors each of 10 0 are

connecied in parallel, the equivalent resistance is

(@ 1042 by 1000 {c) | £2 (dy 1k

U W FIOEH RO # R=1k0, L=10 pH, C=1 pf o8 #id dreear =10 V &, 3@ & ofior &
e 1’.‘.',.-'[” an series RLC circuit, R=1kL3, L=10 pH, C=1 pf and source voltage =10 V, the current in the

cireut at resonance is

(@ 10 mA oy 100 mA e} 20mA (@ 1 mA

uF Tt e W & B 3#@suE A Op-Amp is designed to amplify

(a) FF oA AieEansAC voltage only

(b) #F SR dreEar/ DO voltage only

(c) THEr AT Edr geear eEi/Both AC and DC voltage
(d) HTF UeH TRTEE/Pulse signal only
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23

25.

27.

28.

v e oAt @ gaqE oY - ——— ¥/ The input resistance of an ideal Op-Amp is

(@) AYeq/ Zero {b} .HEIIH,.-"Inﬁnitg.r
(g) 1k2 fd) 100 k{2

IO HEA HAR! TG V=100V, V=100V 3T V=35V , B 5Talln a certain serics resonant
circuit V=1 00V, V=100V and V=35V, The source voltage is

(@ 100V o) 135V (6} 65V (@) 35V

TiE U TR B SeTt UHT 10 mA W dW U 100 pA, 3150 Sz a9 BAF the collector
current of a transistor is 10 mA and the bage current is 100 A, then what is its beta?

@ 10 by 100101 € 100 1

T WS 16 mH I 25 mH 79 &1 Gt Fediey qffns &) soaaw s sl ST ¥ Two

coils having sell inductances of 16 mH and 25 mil are mutually coupled, The maximum possible mutual
inductance s

(a) 40 mH by 20mH {c) 10 mH (dy SmH

v & W AW W e vatm @ e @i 30 3 40§ sed wwen @R R4 oo
stage RC coupled amplificr has stage gains of 30 and 40. The overall pain = 7

{a) 70 by 120 ich 1200 ) 40

Aq Rewdl § Jowd sEhE & RIER s/ PIV of a non conducting diode in a bridge rectifier i

(2) TH BAYZ & Gy qpg & T %/ Twice the peak value of ae. input

(b) T EAYc & iy e & T %’fl-!a]fﬂ'bepﬁakvulue of a.c. input

(c} TH AT & 9T He =l fﬂﬂﬂi ./ Four times the peak value of a.c. input
(d) TH YT H WER AFT &/ Peak value of a.c. input

o yats & Suda B d/The negative feedback in an amplifier

(a) T T TEAT %/ Increases the gain

(&) &% GlEE H gerr §/Decreases the band width

() wieRr Teumar @ HURan %’.-"lmprwm the gain stability
() FOHH F @ 7/ None of the above
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23,

30

a1.

a3

HamE @ e wisRwar - #/Capacitive reactance of a capacitor is

{a} 2mfc
) ==
© =
1
el ImfC
et srds & T/ Schottky diode has
(@) Frest F FFT FE/Low cut in voltage
by EEH F i 2/ Slow tum on time
(c) WA 2108 dios AF9=/ Heavily doped p-n junction
(@) U H HrE 7/ None of the above

AL e B/BIT i85 oo

ta) @eeal FETE g/ Voltage controlled device

(b) . weEmE AT s/ Current controlled device

¢ ¥ = Zaqe uicamn gﬁﬁ'ﬂ-’:w high input impedance device

) 3adw # FE A None of the above

GEGTO@ AT g oI | i T S — — & ToT ITEiE &/ Varsctor diode is commonly used for
(a) deean fAI@FTanr/ Voltage regulation

(b) SIS ZYFAM/Electronic tuning

(c) BTATE HYEEA/Diode detection

(@) FULE A FIE T8/ None of the above

A=A 3, -!{-'-'N'T\"l HRUAEH URay &1 ufFarm /At resonance, the impedance of a series HLC gircuit

{8}
{b)
[[=]

(d)

4
XL

Xe
30w 3 FE AfiNone of the above
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35.

T

38.

A FRuad oy & ge afy giRenr ———————————- %/ The total circuit impedance of a series
RLLC cireuit is
ia) JR3+{XL-JI'¢}I

I
B

I:L'.-]! HI. 'I"xf_'

(@ A 3 FE T None of the above

10 £ OIS T s T 3 7T o1 @ 53l a ST o) T aee i e amnn e i
afr s ufaony -

length. Its new resistance is
(@ 10L by 200 (e 30 L2 (dy 0L

R/A given copper wire of 10 €2 resistance is stretched to double jts criginal

drar @ @ ufaty a9 WAl § Fd-=n-=-=---/Resistance of a COPPEr Wire inr:]::ascs whent...........

{a) mr:# gedl §/Length decreases
by T g9Tdr %f‘l’empenltur: decreases
(c) THTH HEAT §/Diameter decrenses

() 3U4F F B T8 None of the ahove

U ST & 95 &7 The charpe of an lectron is

(a) 1.602*107" FeEH/coulomb
) 6.24*107"F FEF /coulomb
(e} 6.24%107" FEAA/coulomb
(@) FUdm & HE T8 None of the abave

S AUEE IS FE BAE, $TATE 2 VAR HiaRE ufRdy o) oaw 89 @ oiae
fawa Az B/ The terminal potential difference of a cell of emf 2 V and internal resistance 0.1 £ when
supplving a current of 5 A will be

@) 2.5V

by 13V

f© 10V

(@) 3T 3 WE A& None of the above
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40,

41,

42.

43.

U &1 UoT ATHERIERTT/ Inductive reactance of an inductor is
(@) amfL

27
(b} 7L

1
{€) TFL

1
(e 2o L]

555 UFTaw agahio & FE &1 HF EThe formula for the frequency of a 555 astable multivibrator

T g— Al
(Ra42Ry)C
(Ra+T8p M

by =

(e} (Rq+ 2Rg)C
(d} '5“'?5 # $E TEINone of the above

BY I T AR wefvEe 1 s ) yeuds aa §1 1Ko i wieng s i e e

¥ | STHTE § BETAT WA §/A forward potential of BV is applied to a Ge diode. A resistance of 1 KL} is in
serics with the diode. The current through the diode is .......

(@) 10mA (b} 73imA
) 7.7mA {d}  DmA

O 3T ) HiEE S dEE 10 cn R E 3R sEe ofenor 60 om ¥ 3T $r dterd am
&/ The width of a rectangle is 10 cm less than its length, and its perimeter is 60 cm. Find the width of the
rectangle.

(@) 10cm (b) 15 ¢cm

e 20cm () 3cm

T TEE W WA 1927ce &, Aem Fr B @9i/0f the volume of i sphere is 792/7ce. The radius
of the sphere will be

(@) %em (b} Jem
e} Gem fdy 97cm

e Fma e wea faed Ahree 15§ SEET RS E/The product of three consecutive
odd numbers whose sum is 15

(@) 120 &) 130
fc) 125 {d} 104
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435,

46,

4T,

48.

49,

51.

e W mEE A 27 Aan AT T W U TN 8 Seedd 7 00 e R Fe A
HUT ﬂlﬁ]ﬂ' & ifﬂTg el (aveaar oy AT 2T I ETE) FIT & @ )21 the angles of elevation of

n balloon from two consecutive kilometre-stones along a straight road are 307 and 607 respectively, then the
height of the balloon above the ground will be {assume the balloon is in the between the two mile stones)

fa) Y372 km by 43 km
(e} 293km @ 33km

U Y & WA & UF FEE & UHAT §/Perimeter of rectangle of sides a & b is given by

(a) 2{ath) () 4ath)
¢} axb dy a+h

vy FRET Feer & 2 urd 15em 3T 20 om B ST @0 Wig &1/ The two sides in a right
angled triangle are 15 cm and 20 em each. Find its hypotenuse?

(a) 35cm b} 15em gy  20cm () 25cm

TG x = 3 & y = 4, w3y’ T HFT UTH & /IFx = 3 & v =4 Find the value of '+ Jxy+y’

@ 71 b} 61 ey 5l dy Kl

form Rfoew wis & suneg BREE 4 300 B g sudsa £/ which digital code is decimal
digit expressed by 4 binary digis.

(m)  d@refdy HE/BCD code (b) AT HE/Binary code

(c) UTHEIHEINE HIE/ASCI code (@) T DI/ Gray code

v i Se e OfFy # Prede dea & B e HEAOT B ¥R & e

Sead e T s #..-"]n an RC phase shift oscillator, the phase of the feedback voltage is shified by
.. with a three stage RC phasze shift network

{a} () degree by 60 degree
{c) 90 degree (dy 180 degree

0.5 HP aTelT 4 Hiet g1 & 92 & e gafdes oy g soshr fRar a1 &/How many units
of electric power will be consumed by 4 motors of 0.5 HP each in § hours?

{a) 11,768 A/ units (b) 11768 AT units
€ L1768 IRAE sunits ) 117.68 GfAE /units
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a3

57,

ﬂiﬂ?ﬂﬂﬁﬁadmﬁrﬁﬁ?&mﬂimmmﬁmwﬁfmmqﬂ---"u----gnnuﬁ

UEEET 3V, ImA HE w15V BT/ The value of current limiting resistor for a stack of 4 1 EDs
connected i series will be ifthe LEDs are of 3V, 3mA and DC source is 15V,

(@ 1042 (b} 1005
ey 1k e [0 k2

difas e & ata-ar A JEaew = @ wmarimE & Which of the sels of logic gates are

designated as univarsal gates?

(a) NOR, NAND ib) XOR, NOR, NAND
{¢) OR,NOT, AND id) NOR, NAND, XNOR

TR g e crnetien  wtey ety 2 witerd 27 BThe modulation technique that takes the lowest
bandwidth among the given

fa  AM ()  FM (c)  DSB-SC @ SSB-SC

WEWmﬁﬁ#mmmﬁ.mmwwtm 2 input logic
gate which has always a high output when its inputs are same |s

(a) NOR {t) NAND fc) XOR ()  XNOR
UIHRH TR W & —-vo-mne B/HRC sanpeof......

(a) EH/Fuse () T /switch

(e} ﬂ?ﬂlﬁlﬂr’capm:itm' @ ey relay

UF SN W A, AT A A QR e 3 e IR AT /10 a zoner

regulator, the change in load current produces, change in ...,

(@) W ATETAT zener voltage
{b) ST UETE /zener current
© Taddakb

(d) '.ﬂ'é?ﬁ # @ A snone of the above

m?mkm.mmmmmmmmmmmm

given voltage, four heating coils will produce minimum heat when conmected

(2) MY FITALall in parallel

(b) FHT SEET Frall in series

(c) & WA Lo e Wwith two parallel pairs in series

(d) UF P BRI I S Amen F sone pair in parallel with the other two in series

i 686 TN(ELE.MECH)



59,

&1

62

64,

50 o1 o1 U O el 3 UREReT 5 mH | Wi Ze FEAT G @ SATT € A Ee! o Wl -———

e BT The inductance of a single layer coil of 50 wms is 5 mH. I the no. of s is doubled, inductance
of coil will become ......

{a} 2.5mil (6) SmH
g 10mH (d)  20mH

900 MHz & T2 &t o = & e gdar s d=tan oy S @ 2 =i What should be
the length of Herte transmitting Antenno for radiating radio waves of 900 Mz

(@ 6.7 cm
() 1.67 cpm
(g} B35cm

(@ FOAF F FF A&/ None of the above

UF FHie I deurw feeet @ aepng gl 20 Kie 3 s fr Rean 2KHe §)

SEehT FO{) e AIE AT & The resonant frequency of a parallel resonant bandpass filter is 20 KHz and its
bandwith is 2 KHe. [ts upper cutolT requency 15 ........

(a) I9KHz ) 22 KHz

) 18 KHz (d) 21 KHz

PIHAUE ATHE & 3R 398 - T @ &/ The use of TRF receivers is limited
because of their

fa)  EEw AgEalPoor fidelity
() GEW THTAHN/Poor SNR

{a) gﬁ'ﬂ ﬂilﬂ?-ﬂ'l!l-‘unr sensitivity
(@) IagE FWHI/ Al of the above

vadEr & At et e et - — gt Aersy fra wrar B Automatic switching
OFF function is accomplished in MCB by.......

{a) ﬁ?ﬁ'a’ﬂc]a}' (b} @I/ cluch
(o) Te-urfcas Teus/bimetallic-strip 4y EAEdiode

AT de2ar @ FAmE The height of Marconi Antenna is

{a) A b} A2
(&) A3 (dy A4

12 686 TN(ELE.MECH)



&7

89.

o Fat ateear sl o —~ Tlwi & 3R U £/A servo voltage stabiliser is based
o the principle of

(a)  WTATEET SEAT B AF T buck-hoost the primary voltage

(b} TE FJAET dlezar T FiE &%/ feedback a sample voltage

(c) Pt gmr Rifies HTITYE &7 f?ﬂﬁﬂrmﬁmhing different outputs by relays
(d) IUdeE F B FE /none of the above

et wredrat o voedy A Readt H=tae &/Which of the following ICs contain AND gates?

@) 40 (b) 7402
(c} 7404 (d) 7408
AP 8 3 ST & S & R 9 o ol ge w0 A e gr gk

R/ The distance range of communication in microwave band, without using satellites, depends
largahyon .......

(a) W Frequency

(b) oA vd #iafes teeay & FUTS /Height of transmitting and receiving antenna

(c) WHROT # SUMAT AT P WP/ Type of modulation used in transmission

() Fﬂﬂiﬁ # iﬁ? TE/None of the above

HIHTH S & st ReEer e B & B suafg v/ Astigmatism
control on CRO panel is used for_____ control.
(@) T/ Focus (b) STV brightness

ter  Teomayst it Pafbeam position (0) U H @i trace rotation

5 3 AT 10 3 uia so VST T ER SR &) 10 3 e v w0 w5 o & i The
resistance of § ohm and 10 ohm are connectad in serias with a 30 vV DC supply. The current
across 10 ohm resistance |s:

{a) 4A B 2A {€) 1A )y BA
St AP & semlE e o TR T £/1n TV receiver the electron beam is
deflected by

(a) o i ROor/Electromagnetic deflection
(b} T SAfdw Rvor/ Elecirostatic deflection

ic) g & wik T/ Any of the two

(d) I FFNone
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73

74.

75

B e A e T Bfaesas fvad o ggw iR e & v # suate
femam JEr /1n & DVD player, digitised signals are converted into composite video signals by

means of

{a) ADC () DAC

(¢) HHEH/ Detectar oy TR Mixer
ER e - # 3y &/Radar principle is used in

(a) TITEIWE & HETA H/detection of aircraft
(b)  EETRETelephony

(e} EeFEE HAGSERN/ electron microscope
() oA HHall of the above

0-50 ATar & e wIe & TAv guf ke fEw & 2 1% Sofngadtiafiaaioa &)
e Hea H Wit /An ammeter of (-50 A range has an accuracy of £ 1% of full scale reading.
The current measured is 10 A. The uncertainty in measured value is

(@ =+ 2% (i £235%

g} +4% (d} +£5%

Al o WA Theet f1 w2 a7 g e HF TR AT ST ¥ The cut off frequency of
a low pass RO filter is given by the formula

(a) 1/(2aRC) () 12e(RC)™

€ 14x'RC) (@ RO

THXX Sarer & T et FIAS e — 3 SuwEn RIT8XX series of voltage regulator ICs are
available in ..........

(a) 2 0=t 3rall B2 pin IC package
(by 3 T sy §8va /3 pin IC package
{c) 4 T 3l 8351 M4 pin IC package
{d) & 1O 35 U /8 pin IC package

14 6%6 TN(FLEMECH)



